60

(a) snowmelt waterflow rate = 3 L/min
v
— 20 {J Z=0 mm rising ;
%’) v Z=10 mm rising |
o O Z=0 mm falling 7’
_5 40 ~ v Z=10 mm falling I
© Z=0 mm rising Y
it . ( ]
€ Z=10 mm rising /
8 g0 | =0 e e Z=0 mm falling /
& | |[emeesecercmen: Z=10 mm falling v
o
5
£ 20 A
°
o)
w
10
0 T T T T T
0.0 0.5 1.0 1.5 2.0 25 3.0
Runoff (L/min)
30
(b) snowmelt waterflow rate = 5 L/min
25 A
<
2
S 20
<
|5
o 15 A
C
]
8]
5
£ 10
©
o)
w
5 .
0 T
20 25 3.0 3.5 4.0 4.5 5.0

Runoff (L/min)

Fig. 10 The relationship between sediment concentration (SC) and runoff under the effect of thawed

soil depth under two snowmelt waterflow rate conditions: (a) 3 L/min and (b) 5 L/min.



